Selection pp — 88§ — bbx] pp — 888~ ttx] pp — 888 — qaxy
mg = 1500 GeV mg = 1500 GeV mg = 1000 GeV

’";2‘1’ = 100 GeV n%’ = 100 GeV miﬁ’ = 800 GeV

Niet >4 96.49 +0.08 99.96 + 0.01 76.87 +0.14
Hry > 500 GeV 96.46 +0.08 99.89 + 0.01 38.30+0.16
Hipiss > 200 GeV 87.2140.15 88.65 £ 0.10 24.46 +0.14
Nimuon =0 86.59 +0.15 56.00 + 0.15 24.424+0.14
Nelectron =~ =0 85.95 +0.15 35.21+0.15 24.26 +0.14
(muon) =0 85.66 + 0.15 34.46 +0.15 24.19+0.14
Nfe(‘,‘f;f;g“t)racks = 85.17 £ 0.16 33.50 + 0.15 24.00 £ 0.14
(hadron) =0 84.20 £+ 0.16 31.57 +0.14 23.26+0.14
Appymss;, > 05,0.5,0.3,0.3 62.00 4 0.21 23.96 +0.13 17.66 £ 0.12




